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The Numbers
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Natural Numbers (N) el L 3as Azl slacl) o
N={0,1,2,34,....... }
Integer Numbers (Z) bl e pngdamall sy o
Z={,-4,-3,-2,-1,0,1,2,34,....... } e
Rational Numbers (Q) b led e Al slacY) o
Q={a/b:- a,b€Z ,b#0}
In rational Numbers (Q7) Sl Ll s dpadll yall dae ¥ o
Oa IS el b0 O G aflh IS e Ll (S Y Gl e ) (e de sana (e 3oke A

V2 =1.4142135624......
7 =3.1415926535....... ;
Real Numbers (R)_<_ it ld 3o s daasll dlacy) o
R=QUQ"
Numbers Complex (C)_ b ted 3e s (328aall) 48 yall dacy) o
C={a+bi:—abeR,i=v-1]
rob Baatall e pandl) (s 8N Ll
NcZcQcR

488a]) JaeY) yal B (2-1)

a+belRvabe IR oyl 5 el Gislend il Ak A8daN) Sae V) 1

a*belRva,belR

dmpenill dpalsl) 2
(a+b)+c=a+(b+c)
(a*b)*c=a*(b*c)

(0) s el Aleal Ml jaiall 3

b+0 = O+b= Db

b*1 = 1*b= D

22al) b s 222ll 2aad) plaill 4
b+(-b) = (-b)+b= 0
a(l/a)=(1/a)a=1

Ayl dualall 5
a+b=b+a



(a+b)c=ac+bc
a(b+c)=ab+ac

Aaadl) das] ) 4y pdal) dacy) Jogali (3-1)

3 el 20al) () Lars (0) gssbon Y pliall of Ja s 4 juaS Tapemy dpanss dae | ) & el dlae Y1 Jygad oy
—olls cllligh (5 )00 5l (gTie (g ke yuS

! (3.137/1000 )oysSs 4k a3 )l (3.137) 228d) Jin gliie s e juS g il 222l S 13 - ]
JUall 22l @lld rpuzm gl g 53 Al Cadad 23 4y i) Gl pall 2ae 508 il dalal alially 2al g o8 ) Caual
-:‘;‘X\
(a/b) Hasay ai¥) dac Yl Joa —: i
n1=40.78 n2=239.1
RN
n1=4078/100 n2=2391/10
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n=0.136136136136.........
~ Y o daand )l (g b Alee £l jali a8 5 1000n=136.136136.........

1000n-n=136
n(1000-1)=136
n=136/999
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Close Interval 4aledll s yall 1
bl Jensa, b el bl e byl s 5iai5a b (e () G 8 seanall (X) ol Ao sana (o

[a,b]
[a,b] ={x:- a< X <b}
a b

~ Open Interval s sisall 3 i) 2
(&, b) Mol 3ans Liag b cpae ) Gnd)sasal (X) afde seaa A
(@a,b)={x:-a< x<Db}
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EX1:- Find the solve of the 2x+1<4-x

da gidal) Caai syl 3

bjia ui‘;sgjhij,a,b uﬁdﬁccﬁiuuz‘)}a;d\()()ﬁg:\.c)mgh

D) ={x:-a< x<b}

b ]={Xx:-a< x<b}

l-a<b=a+c<b+cVN
2—a<b=ac=<bcv+c
a<b=ac>hcv-c
3—-a<bb<c=a=<c

Fgiie L ) adl) (5-1)
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5L i Jesia, b 00585 o) ang A3ada

Clasliiall (e 4dbiaal) &) 53U Jall de gane slag) 3 (al sl 03 a2dins

Sol:-
2X+1<4-X
2X+x<4-1
3x/3<3/3

X<

1

{xX: x <1}

EX2:- Find the solve of the 3(1-x) <6

sol

3(1-x) <6
3-3x<6
-3X <6-3
-3/3x < 3/3

-X

<1

SERPR-TPPLY
Xx>-1
{Xix=>-1}

EX3:- Find the solve of the function x*-5x-24 <0

So

(x-8)(x+3) < 0

If

X-8 <0

x <8



or (x+3)>0
X >-3
{X:x -3<x<8}
[-3,8] e dallde sana )

EX4:- Find the solve of the function 2x>-2x >4
Sol :-

2X%-2X -4 > ()
X2 X -2>0
(X-2)(x+1) > 0

____________ T (X-2) — x=2 o) Cus hadal) 3 LA el dasdgBas ) Jale JS 3 LE) e s
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______________ A (XHL) — x = -1 o) das jlasall 3 L)

-1
(X-2) (x+1) 3 LY o us
N SR

-1 2
(o —DU(2,0)  Jallde sane o8 clld Lin g i) Laie ()5 A (X) wiill e sana Costhaall o) Lay

EX5:- Find the solve of the function x+1/3-x <0

Sol :-

DIl 3 HLE) dass A i) 5 Jawall) (pe JS3 LE) e s
-------------- - (X+1) 3L

-1
.............. I R (3-x) 33

3
e e — R e (X+1/3-x) 5,45

-1 3

(o—DUB %) Jallde sene (ld dld Wl il ladie 5 S (X) aill e sana sthall o) L
EX6:- Find the solve of the function x+2/x-1 > 1

Al ol A ga Ja 4iad ales ¥ LY Hlial (e paliill (X-1) Jlaially o ) (o i o) Say Y - ddaadle
(X+2/x-1)-1>0
(X+2)-(x-1)/(x-1) >0

X+2-x+1/x-1>0
3/x-1



X e (1,0)

- (3) &0 5Ll (s

----------- e maa S (X-1) 80 B LE) (e s
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Jal e gana (b Gl dua ga kel Ladie ()5S S (X) wil) e sane o stladll o Lay

sgdadl g ) ol B (7 -1)

At xg" = ™" uaw‘)’\ta;ia_uml\ml
ama"=a™" ) 7l dendll xie 2
(am)n — a.m.n u-w{ﬁ\ k_i‘)...aj @)j‘ e 3

(@ b)"=a"h" ) & 558 all die 4

(a/b)" =a"/b" 5

Ya —an :
gl 63 g ddlhaal) daidll (8 -1)

Absolute Value 4dladll dell

\x\:\/?:x,xzo

=X,X=<0

o]x<a=-a<x=<+a Adllaal) dagdl) ol sa

e[x|<a=-a<x<+a

o/x|>a=x>ax<-a

e[x>a=x>a,x<-a

[ab]=[a}jp

wla-rbl=[al+b
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*fo—a|=[a|-p
(-1) e Aadl) 5 Cpall Alla (<> ) 5 (2 G <) Al dldle qlis - Aradle

Ex1:- Find the(x ) of the function
x*—2|<7
Sol:-

\xz—z\g
—7<x?-2<7
—T74+2<X?>—-2+2<7+2

—5<x%*<9

J-5<x%9
5- il Jagh g A Al 48 e (5 53y O GSaall ) (g a1 H3ad) o) Lag

x*<9
x*-9<0
(x=3)(x+3)<0
and(x—-3)=0
X=3
or(x+3)=0
X=-3

---------------- B e (X-3) a0 B LE) s

3

---------------- e (X+3) a8 3 L) (s

-3

e —mmmmmmmm e (X)) (X-3) A0 L) (e

-3 3

dallde gaaa i clldl jaiall U slus 5l Ll latall Laie (5585 (Al (X) aill de sane slhaall of Lay
[-33]



Ex2:- Find the(x ) of the function

x-1>1
Sol:-
x=1>1
and(x—-1) <-1
x=<0
or(x-1)>1
X>=2
B e
0 2
(—0,0) U (2, 0) L) dallde gana 53
<laad 6l
(a/b) Hamay A5V Aae Y Joa —: J sV s
nl=0.77777....... n2=0.1313131313
Find the solve of the functions -1 S J) sl
13 xe [~ 0,—2.5]U(-1,2)
X+1 Xx-2
2

%< x= X e(-1,0)U(L )

x* —4/<5=xe(-33)
2x—3>5= xe(-0,~4)U(L o)
[x* =3 > 2x = x & (~0,~1)U(3,)

‘xz —9‘>2:> XE(—w,—\/ﬁ)U(—ﬁ,ﬁ)U(\/ﬁ,OO)





